Course planner optimal lengths:

Course 1 —10.62 km
Course 2 —9.13 km
Course 3 —7.82 km
Course 4 — 6.14 km
Course 5 — 4.64 km
Course 6 — 3.66 km
Course 7 —2.08 km

Can you find the best and fastest route choices at
high speed?

But will the shortest route be the best?



Course 1 — Which route you would choose?

Start—1 A 309m B 296m

5-6A727m B 676m
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23-24 A 566m B 536m 26-27 A278m B 234m



Course 2 — Which route you would choose?
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9_10 A 510m B 556m
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17— 18 A 602m B 515m 20—21 A 414m B 407m




Course 3 — Which route you would choose?

13-14 A 468m B 439m



Course 4 — Which route you would choose?
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11-12 A277m B 267m

14-15 A 317m B 269m



Course 5 — Which route you would choose?

15-16 A 416m B 463m



Course 6 — Which route you would choose?
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11-12 A 419m B 416m




Course 7 — Which route you would choose?
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6-7A291mB 327m 7-9 A 155m B 140m






